BTIE555#: (B TIX) B MR
No.1 TRECEHE G E
T fE g H i H®H K B = AL
i T
Pt0. 8~54. 0 |&EiZE i bllr  As 54.0-0. 8+0. 5 53. 70 54. 00
t=10cm m
Pt0. 0~0. 8 |&hERGINT As 0.6+0. 8 1. 40 1. 00
H25 T & Fir| t=5cm m
ERAERRIBAFEA - t=10cm MR E m AR EE LY 26. 60 27. 00
m?2
EEERRI A RDA  t=5cem MR E m AR AR E LY 0. 40 0. 40
m?2
FEM TEME  AsBE L=7.1km |26.6%0. 1+0. 4%0. 05 2.68 3. 00
AR E m3
Pt0. 0~0. 8 |#FH U BUAIE FFF| AL 0.77 0. 80
30074 m
Pt0.0~0.8 [ 27 VU — Loy FrEUR  |[HEEBUER L 1.33 1. 00
76 TIX A | k85 BIEE S 10em m
arv7 Y—MREEL 3. 6176+0. 0229 3. 64 4. 00
TR m3
FEMEME  Co—WkELEL  L=7. lkm 3. 64 4,00
AR E m3
FER AL 53 B
JFERA AL ER 2.68%2.3/1.8 3. 42 3. 40
AsBfl m3
JFERA HLER 3.64%2.5/1.8 5. 06 5.10
Co — R ML m3
+T
B TTEHEELY 31. 80 32. 00
m3
e OE K EHEELD 30. 24 30. 00
LY m2
WEREL fEED T THEELD 10. 50 11. 00
BERE+ m3
FeAEM L=2km 31.8-10.5/0.9 20. 13 20. 00
{EE &P~ m3
Bt A Hh 20.13 20. 00
m3
/NIRRT
HET
Pt0. 0~54. O |k Mgk = > 2 U — s UBHalE 54. 00 54. 00
300%300%1000 m




MTELS AR (B TX) B MR
No.2 T B AW %
T fi il H i H K ¥ B | L

5 SILMEREE t=10cm 0. 56+%0. 1%54. 0 = 30. 24 30. 00
RC—-40 %:%0.56m3/10m 4 m3

EEET

TAT 7V M T

HT3ETEIH | FEEME T  t=45. 5cm SRR EE LY = 28.10 28. 00

555 R RC-40 =JgLL Bff k- m?2

BIEEIH | FEBM T t=10cm AR LY = 28.10 28. 00

5575 % BIFAWEH  M-25 m2

HEEIH  |&BL t=5cm AR LY = 2810 28. 00

555 PR B0 E A s 20F m?2

EXET B

Pt0. 0~54. O| X E T. <A > F R - SEERBAR LY = 54. 00 54. 00
HEMR 15em WAL Smm m




BI85 5#% (H TX) B MR
No.1 T B AW %
T ff gl H LR - ¥ & | HAL
e fE T
BTIES5 BHp |SERREIEr  As 0. 5+9. 0+0. 5 = 10. 00 10. 00
Pt0.0~9.0 |[t=10cm m
MTIE 626 58 | S2E DIl As 0.58. 0 = 8. 50 9. 00
Pt0. 0~8. 0 [t=4cm m
SRR EREA  t=10cm SR E m AR AR E LY = 4.50 5. 00
m?2
SRR EREA  t=4cem SR E R AR E LY = 4.00 4. 00
m?2
FEM TEME  AsBE L=7.1km |4.5%0. 1+4. 0%0. 04 = 0.61 0. 60
AR E m3
a7 J— hEUEL HEEMBEER L Y 1.8036+0. 049 = 1.85 2. 00
7 m3
a7 J— hEUEL HEEMBEER L Y 0.3264+0. 068 = 0. 39 0. 40
TR m3
BEM TEW:  EfFCo  1L=7. lkm = 1.85 2.00
AR E m3
FEMEME  Co—WkELEL  L=7. lkm = 0.39 0. 40
AR E m3
BER AL 55
JFERA SR 0.61%2.3/1.8 = 0.78 0. 80
AsBfl m3
JFERA SR 1.85%2. 35/1. 8 = 2.42 2. 40
EfFCo m3
JFERA HLER 0.39%2.5/1.8 = 0.54 0. 50
Co — R ML m3
+T
PR HE 1 TITEHEELY = 6. 70 7.00
m3
e OE K EHEELY = 6. 48 6. 00
LY m2
WERL HEED T THEELD = 1.70 2.00
BERA L m3
FeAEM L=2km 6.7-1.7/0.9 = 4.81 5. 00
{EE & T~ m3
Bt A Hh = 4.81 5. 00
m3
/NIRRT
HET
Pt0.0~8.0 |8tz 27U = 8. 00 8. 00
FeD-4-30 1.=4000 m
5 SILMEREE t=10cm 0. 74%0. 1%8. 0 = 0.59 0. 60
RC—-40 £%0.74m3/10m 4 m3




WT1E55 54 (1 T.IX) B R
No.2 TRECEHE G E
T ff gl H i H®H K ¥ & AL
FfEayy)-b t=10cm 0. 74%0. 1%8. 0 = 0. 592 0.592
18-8-25BB %:%0. 74m3/10m 4 m3
T 0. 1%8. 0%2 = 1. 60 2. 00
m?2
JV=F/r #3004 = 8. 00 8. 00
L=1.0m A& A VE EZT-25 He
Pt8. 0~9. 0 |FEEEASMH =2 Y — N URMENE = 1. 00 1. 00
300%300%1000 m
5 ILMEEE t=10cm 0. 560. 1%1. 0 = 0. 06 0. 06
RC—-40 £#0.56m3/10m 4 m3
EEET
TAT 7V M T
BTEEIR | FEEE T t=58cm MR EE LY = 4.00 4. 00
555 R RC-40 =JgLL Bff k- m?2
HEEIR | T/ T t=45. 5cm S EE LY = 0.50 0. 50
555 R RC-40 =JgLL Bt E m?2
ETEEIR | FEHET  t=25cm MR EE LY = 4.00 4. 00
62653 RC-40 —JELL Bk m?2
BTE1E 1/ FEAE T t=10cm SRS EE LY 4.040.544.0 = 8. 50 9. 00
55-626 587 |[Rigfer M-25 m?2
BTIE1E [H BT t=5cm HEEmMMAEHEELD  4.040.5 = 4. 50 5. 00
555 PR B0 FE A s 20F m?2
BTEEIR  |&RE L t=4cm MR EE LY = 4.00 4. 00
62651 PR B0 FE A s 20F m?2
EXET B
Pt0.0~1.3 [KHE#HET <12 FX T - SRR K Y = 3.20 3. 00
7.1~9.0 |AZFEMH 15cm BAHE1. Smm m




WTE55 5% (P8 L.IX) B R
No.1 TRECEHE G E
T fE g H i H®H K ¥ & AL
e fE T
BTIES5 BHp |SHERREIEr  As 0. 5+64. 5+0. 5 = 65.50 66. 00
Pt0. 0~64. 5|t=10cm m
[EPi LRI As 0.5+14. 3 = 14. 80 15. 00
Pt0. 0~14. 3|t=4cm m
AR FEA - t=10cm SR E m AR AR E LY = 34. 90 35. 00
m?2
EEERRIARDA  t=4cem SR E m AR A E LY = 12. 00 12. 00
m?2
FEM TEME:  AsBE L=7.1km |34.9%0. 1+12. 0%0. 04 = 3.97 4. 00
AR E m3
ay>7 J— hEUEL S EEER L W 3.5496+0. 5018 = 4. 05 4. 00
TR m3
ay 7 — FEUEL Y EUER LY 0.1336+0.08+0.072 = 0.29 0.30
5 m3
FEMEME  Co—WkELEL  L=7. lkm = 4. 05 4,00
AR E m3
BEM TEW:  EfFCo  1L=7. lkm = 0.29 0. 30
AR E m3
BER AL 55
JFERA SR 3.97%2.3/1.8 = 5.07 5.10
AsBfl m3
JFERA SR 0.29%2.35/1.8 = 0.38 0. 40
EfFCo m3
JFERA SR 4.05%2.5/1.8 = 5. 63 5. 60
Co — R ML m3
+T
Ak A 1) TITEEELY = 44. 20 44. 00
m3
i E K EHEELD = 38. 16 38. 00
LY m2
WERL HEED T THEELD = 16. 70 17. 00
BERA L m3
FeAEM L=2km 44.2-16.7/0.9 = 25. 64 26. 00
B & P~ m3
Bt A Hh = 25. 64 26. 00
m3
NIRRT
HET
Pt0.0~12.0(= > 7 U = 12. 00 12. 00
N4-30 (FJE)  1L=4000 m
B SILMEREE t=10cm 0. 73%0. 1%12. 0 = 0. 88 0. 90
RC—-40 £%0.73m3/10m 4 m3
W v-F/" 3 300% HE - EEERRBA X = 2. 00 2. 00
L=1.0m T-20 e
Pt12. 0~64. Ok Ak = > 7 U — b URMARE |64. 0-12. 0 = 52. 00 52.00
300%300%1000 m




WTE55 5% (P8 L.IX) B R
No.2 T B AW %
T fi il H LR - ¥ B | L
B SILMEEE t=10cm 0. 56%0. 1%52. 0 = 2.91 3. 00
RC—-40 £:%0.56m3/10m 4 m3
Pt64. 0~64. 5| EFkEEASA =2 7 U — F UR{AIE = 0. 50 0. 50
BT X249 [300%300%500 m
5 SILMEEE t=10cm 0. 56+%0. 1%0. 5 = 0.03 0.03
RC—-40 £:#0.56m3/10m 4 m3
FrURIHEZE 3007 I - SHEERBA L 1241446 = 32. 00 32. 00
1.=0.5m e
EEET
TAT 7V M T
ETEEIR | FEEE T t=48cm MR EE LY = 6. 10 6. 00
555 R RC-40 =JgLL Bff k- m?2
WT3ETEIH | FEEME T t=45. 5cm SEmREGEE LY = 26.40 26. 00
555 R RC-40 =JgLL kAL k- m?2
MHEEIH | FEEELT  t=10cm TSR EE LY 6.1426.4 = 32. 50 33. 00
5575 % BRI M-25 m?2
RHMER | FEBET t=10cm HEmAEREE LY = 6. 00 6. 00
RC-40 m?2
BT7ETEIR |&B T t=5cm SEERESEE LY 6.1426.4 =  32.50 33. 00
555 PR B0 FE A s 20F m?2
R#iEE |[FEL t=4cm HEmAEREE LY = 6. 00 6. 00
PR BRI EAS20F m2
X R T
Pt0. 0~64. 5|XH#RE T. <A > F e - AR & = 64. 50 65. 00
HEMR 15em WAL Smm m




